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I Read the text and do the exercise given below. (12)
2012 World's Largest Retailers

The “Global Powers of Retailing” list ranks global retailers according to total revenue. In 2012 the list reflects the revenue that was generated in 2011, which was the early part of an intense global retailing recession. Despite that, the changes from the last Global Powers list are surprisingly not all that dramatic. 

Most of the world’s largest retailers positioned in the top half of the list moved very little in their rankings, if at all. Wal-Mart is still, by far, the largest retailer in the world. France’s Carrefour is still #2. Germany’s Metro AG overtook the United Kingdom’s Tesco chain and claimed the #3 position on the list. The top retailers in the top countries managed to maintain relative stability on the global retailing stage. 

There were a few big notable shifts in the world’s largest retailers, however. Norway and Lithuania became global powers of retailing, joining this year’s list at #88 and #221, respectively. Iceland fell off the list completely after its Baugur Group became a recession casualty.  

Russia fell from the #15 position to the #107 position, the largest drop for any one country. China’s ranking fell from #63 to #90, and a new largest retailer emerged in that country. Spain, Finland, Chile, South Korea, and Brazil also had new retail companies assume the position of being their country’s largest retailer.
Are these statements true, false or is there no evidence in the text?

1. Retailers are ranked according to their performance over the last decade.
2. The majority of big retailers have suffered because of the recession and lost their ranking.
3. Retailers managed to generate more revenue in 2011 despite the recession.

4. Wal-Mart heads the list of 2012 world’s largest retailers.
5. Iceland has significantly moved up the list.

6. New companies have taken up the places of the biggest retailers in Spain and Brazil.

II Complete the text with either present simple, present continuous, present perfect or past simple  tense of the verbs in brackets. 
For more than 110 years Roche ____________________ (play) a pioneering role in healthcare. Today, as world leader in in-vitro diagnostics, we ________________ (supply) a wide range of diagnostic instruments and tests for rapid and reliable disease detection and monitoring by doctors, laboratories or patients themselves. In the therapeutic field, Roche ___________________ (bring) many highly effective drugs onto the market over the last few years, thanks to the research _____________ (do/make) by the world’s leading scientists. Our daily work _________________ (focus) on disease areas where medical needs are great. 
To continue our success as a leading and innovative company, we ___________________ (currently, look for)  the talents of today and tomorrow. Click below to find out more what makes Roche an employer of choice and why Roche might be a great place for you to make your mark and improve lives!
III Translate the following sentences.
1. A company is a business organization producing and selling goods or service.

2. Most organizations have a hierarchical structure with one person or a group of people at the

top of the pyramid and an increasing number of people at each successive level.

3. The customer complained that the employee had made a mistake and overcharged her for the CD player.

4. We will have to make our entire technical staff redundant because we have run out of operating capital.

IV Fill in the text with the appropriate words.
establishes 

departments     

superior 

CEO 


produces


board

business 

marketing 


customers 
Many organizations have become larger and more complex and single ________________ are unable to cope with multiple _______________ and service users. The company thus _________________ divisions concentrated around markets, geographical areas or products. Each division represents a semi-autonomous ________________ unit and has within itself several functional sub-divisions in charge of production, __________________, sales etc.

The chain of command is linear i.e. it runs down the pyramid. Each level knows who their ________________ and subordinates are and which decisions they are responsible for.

V Match the words with their corresponding definitions. 
1. loan



a) a person who makes money by starting or running businesses, 




especially when this involves taking financial risks
2. recruit


b) get rid of unnecessary staff and equipment, reorganize
3. chart



c) an organization or a group of people that invests money that is 




given or lent to it and uses the profits to help a charity
4. staff turnover 

d) the rate at which employees leave a company and are replaced 




by other people

5. trust



e) a page or sheet of information in the form of diagrams, lists of 




figures, etc

6. outlet 


f) a shop/store or an organization that sells goods made by a 




particular company or of a particular type

7. entrepreneur 

g) money that an organization such as a bank lends and sb borrows
8. rationalize


h) hire
Total: _____________ 
KEY: 

Exercise I: 1.F, 2.F, 3.NE, 4.T, 5.F, 6.T
Exercise II: has played, supply, has brought, done, focuses, are currently looking for
Exercise IV: departments, customers, establishes, business, marketing, superior
Exercise V: 1.g, 2.h, 3.e, 4.d, 5.c, 6.f, 7.a, 8.b
